MARKING SCHEME
CLASS-XII
BUSINESS STUDIES
2023-24

3Heh Allell BT 3T Hodlhel i IFTABMUD IEI[AT Tl &l 3eh Arstell A
few arw 3R g 3ifde €f §1 A gerarcss vd wisfas ¥ ol odendt &
g8 et fheq 3Ugs 3w fqU &, dl 38 3uged 3 T =]
The objective of the marking scheme is to make evaluation as objective as
possible. The answer points given in the marking scheme are not final.

These are suggestive and indicative. If the candidate has given different but
suitable answers from these, then he should be given suitable marks.

Que [Suggested Answers Marking
No Scheme
1 |&f-78g TR 1
C- Middle level
2 | -gair gt 1
B- Capital Budgeting
3 [@-udY Th d8F 3eHT URKAT § 1
B- Management is a goal-oriented process
4  [U-TE BH B NGERT H UgAd B ’R TUF urdras oneT| 1
UTH A A HETH TArT §
A- Enables a firm to identify opportunities and get first
mover advantage
5 B cafrera &k 1
D- Personal Selling
6 [u-3rfAfRaar 1
A-Uncertainty
7T @ faerefretor 1
B- Departmentalization
8 [ aRerar 1
C- Liquidity
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S-Sl PUT TcT & 3 hUT 2 B FUT 1 T Avpy form
ups

D- Both are true and Statement 2 has been concluded
from Statement 1.

10

Y- e T B
C- Both are true.

11

AT URA T SeTedoT: UIRarRe LT, A8 &1 TR,
Qfa-Rarer, g, ler 3nfe (P Top)

Example of Social environment: Family composition,
level of education, customs, beliefs, festivals etc. (Any
one)

12

HRAT ATAD g

Bureau of Indian Standards

13

31Tt fr gEar

Number of subordinates

14

ESEISERULE))

Debentures

15

e gt
'Working Capital

16

EIRIECACAE D)
Primary packaging

17

379r, A

Forward, Backward

18

Hcd
True

19

37T
False

20

Hcd
True
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g hentoT 1 Ufshar d fAeAfaf@a =Ror nfder &:
v A 8 S .
e (*/2 x6)
v 934
v togde (\/2 37 TP
v gfreor foig & ferg)
v el
v Ugledid
v TUEATAROT
v Hedlhd
v uiRHfde & g
The process of staffing involves following steps:
v Manpower Planning
v Recruitment
v Selection
v Placement
v' Training
v Development
v Promotion
v’ Transfer
v’ Appraisal
v Determination of Remuneration
UaY Pl AFE HTSH AT oI Hhdl & FAh:
() UEUF Urg A & UF aiedd e ghr;arks for
(i) T & e, uey Rigia dnfas oy wa management is
eIC T afea : science, 1
_ a3 ) e %l mark for why
(iii) oo fr e wEu s RBga aaniFHe s a it is not perfect
CIDY Sl science)
CICXGE
() &Y & i gd adie gid & ST Yg faer
& Rgid deR &d &l
(i) g9 & TAGAr B TeAlcHADar & AT od) fmar
Srar € w=ife A RAgia Aag & agR &l
gaTfad aXd 2
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58 USR, ydu @ gl faene a8 wer o wwdr ¥
Management may be regarded as soft science because:
(1) Management has a systematised body of
knowledge.
(i1) Like science, management principles are based on
scientific enquiry and observations.
(i11) Like science, principles of management are
universally applicable.
But:

(1)  Management Principles are very flexible whereas
pure science principles are rigid.

(i) Management Principles are applied with
creativity as these principles influence the
behaviour of human beings.

Thus, management can’t be called as a perfect science.

23

Sedl AHAY:
(A0 31T Dl gT T & 3N |l famen & eperarial
Y PRATS BT Th TTATT e Hr feem & FERT Har &)
S8 UhR Jpadd e GAfRa adr g

AR AT
feeor & ggarel a8 HarEst Al cEd gU A Hiaey
T IISTAT31T & AT F FAge AT &1 SAfev Jg JIaeT H
dEdy ANSTATT Tt A HASE hdl &l

Better Coordination:

Controlling removes chaos and aligns employee action of
all the departments in direction of a common goal, thus
ensuring optimum performance.

Better Planning:

Controlling helps in formulation of future plans in the light
of problems identified in controlling. Hence it helps in
making better future plans.

OR

(1'2 x2=3)
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=0T A3 ) AR aar § it I8 A 3k
TETE T & A e B Aar §1 e g R
ARl & 6 uds gl Aear &1 Iy ¥ ureld |
=0T 3 AR PIREr 3R S I8 @0a qaar & 6 &)
S STl ol UTelel | q@lT 3R, el o 3regsrat
3R fag=or & RuiE o 3maRa ear &1 89 U ai|r &
g afas 3R oReuRe d9y Aleg #

Controlling depends upon the plans as it measures the
differences between plans and actuals. Controlling makes
sure that everyone follows the plans strictly. Continuous
monitoring and checks in controlling make it possible that
everyone follows the plan. On the other hand, planning is
based upon past experiences and feedback report of
controlling function. Thus, there exists close and
reciprocal relation between the two.

3 marks

[T & U erara sy § #ifh fasud & 3ad
GIE Y

ST~ Sfel # Uge: A AT Colewid S Sexae, s,
CeNfasier 3R FATIR U7 fa=iuet &l Seldn de uga= &
H&TH dATd ©l

THTINIT: AU 3cUlg &Y 3Ty Ia1d & 3R 3=a fahr
& forw & et R #

e H®: faaue 3mamaa & argar a1 e § 3R
ITech! Hr T P TSI &

It pays to advertising as Advertising has many
advantages:

Mass reach

Mass media platforms like internet, radio, television and
newspapers enables the advertisement reach the masses.
Effectiveness

Advertisements make the product attractive and arouse
the demand leading to high sales.

Customer satisfaction

Advertising creates sense of assurance and enhances
customer satisfaction.

(Ix 3)

Any 3 points

(*2 mark for
the
heading+'2
mark for the
explanation)

5
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OR

Scurg IS -

Uh 3cUIG & hd U &l ScUIel & JIToTdd I URAHA| SETeIT:
fRaTe SIA & 100 ITH U3 & A1 500 IH fhd THA
U |

AT AT ATH-

AT a3OR AT BThde arzay AR W 9w T S g
Seeul & fow AT Heg &1 A v v W QX Uba
Eall

AT 3UER —

el Pl 3UER & & A 3cUlg f o AR AT &
QAL FRATI 3T & foIT - 20% AR ar 2 @S, 1
fo:3[eeh uTd Al

Product combination — Offering combination of two
products, means on the purchase of one .Example: 100g
gm pouch of Kissan jam with 500 gm of Kissan tomato
ketchup.

Usable benefit- Travel vouchers or discount vouchers are
generally offered. Purchase goods worth and get a tour
package free.

Quantity gift — Offering some extra quantity of the
product as a gift to the customers. For example —20%
Extra or Buy 2, Get 1 Free.

(1x 3)
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3relTeTRe HeorTameel & I[T:

1. afd: JaEa TUR JAAfe o © 3R s@@r U
aga 9N F T e & e R on wwar 31 | (1x4)

2. Hegarel giafhdr: satuariies Gecrrdied Ty &l
HAogard UfAThaT Ualed @l ¥, 3R SHHI gt 4
ST R ST &1 SEHT suE yayet gRT gaer | (@ 4 g)
TERa X & fow fhar arar § arfes sad srdaedt
&1 gfaferamst o SEr S oAbl

3. HTdATCHD JSTd: ATATRD Healdeed P H
HTTATCHD 3T3Colc & & H B AT ¢

4. RE & F H: ARG HIR Al gl drel &
& # P P Ghdl & FAIfh U9 gRT 3 3K
HPRIcHAD [IarT Pl GHRT & & [T sqedr gare
&I F 3uIT fRar S dehdr B

Merits of informal communication:
1. Speed: Grapevine communication is highly rapid

and can be used to send messages very quickly.
2. Valuable Feedback: Such communication
provides valuable feedback to the management, if

1 k fi
used intelligently. Informal channels are used by the (1mark for

o ' each point)
managers to transmit information so as to know the

reactions of his/her subordinates.

3. Check on Emotions: It develops employee's
interest in their work as it serves as an emotional
outlet for workers.

4. Acts as Motivator: Informal communication
works as a morale booster because it can be used
effectively by the management for transmitting
good and positive ideas.
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AT f0T & 7Y & o6 HueAl & Ag H & Tt T
3Rt @ faaRa forar s & 3R 59 cgaary & fohaan
@ ST ATy |

cITarrer fAoTal &l gaTfdd el drel R:

(i) 31T & TIA: SATHIA BT P adATT oA IR T
A & fRar Sar ¥ 38 UhR 3T aneAier fAoty @1 v
vaE AU &

(ii) 3T & BT 37a 3R R 3T arelt FUAT wA
3R 3TN 3 arell uedt dhr Jorar H AU s
&1 ENYUT T Fehd! ¥l

(iif) STeATRr hr E2RAT: 3 AR W, HUfAm ufar 37er
SITHTRT P Teh FATA TW@A T JATH Bl &1 T
a¥ T fRRR amerier feam Srer ¥

(iv) gfg & 3ae: APE & IS NG drell HUtal
U T A T 3P 99 U Ui @A § arfe
g st & fow 3mags f@aer & gyay foear s
G| SHTOIT STIeT & T a ar &l

(v) Ueps yare &1 ATA: anHIer H Ahs &1 T3cTFar
A AT &1 STHII & I AT Wyon & forw
TITd Uhs I STl AT ¢l

(vi) 3TATURDI PN GATAT: THIT BV A FHAIT, I
DI IAURDT DT UTATHBATIHT DI AT H TG
T

(vii) PUT NfT: TG AT W F 3w &, FaA
HITATT AT dedR &l aAfdhed IR F P g8 FHA §,
ar 3Ta T gt d fRar S ddhdar g

(viii) T€fh AThe RUFNA: 3 dR O, 97T H gig &t
MR IR W FPRIcAD YA USAT § AR 5T%
a1 3ra: omeer o1 fAvy A §HY 59 ard &
T I@AT A1fev|

(ix) Plefell ITUTT: AT AHTATATH &b $S YMdUTA STHTA
& T H T W Ufdder S &1 Sreaer &y

(1+3)

Any 3 points

1 mark for
meaning of
dividend
decision
3marks for
any 3 factors
affecting
dividend
decision

8
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YT Hd JAT VT UIGATA] &l UTeded fopar SITam
Tl

Dividend decision relates to how much of the company's
net profit is to be distributed to the shareholders and how
much of it should be retained in the business.

Factors affecting dividend decisions:

(1) Amount of Earnings: Dividends are paid out of
current and past earnings. Thus, earnings are a
major determinant of dividend decision.

(i1) Stability in Earnings: A company having higher
and stable earnings can declare higher dividends
than a company with lower and unstable earnings.

(111) Stability of Dividends: Generally, companies try
to stabilise dividends per share. A steady dividend
is given each year.

(iv) Growth Opportunities: Companies having good
growth opportunities retain more money so as to
finance the required investment. Therefore the
dividend declared remains smaller.

(v) Cash Flow Position: Dividend involves an outflow
of cash. Availability of enough cash is necessary
for payment or declaration of dividends.

(vi) Shareholders' Preference: While declaring
dividends, the management must keep in mind the
preferences of the shareholders.

(vii) Taxation Policy: If the tax rate on dividends is
higher, it is better to pay less dividends. But if the
tax rates are lower, higher dividends may be
declared.

(viii) Stock Market Reaction: Generally, an increase
in dividends has a positive impact on the stock
market and vice-versa. Thus, while deciding on
dividends, this should be kept in mind.

(ix) Legal Constraints: Certain provisions of the
Companies Act place restrictions on payment as
the dividend. Such provisions must be adhered to
while declaring the dividend.

1 mark for
meaning of
dividend
decision
3marks for
any 3
factors
affecting
dividend
decision
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GI&T &1 PR
el &l HRABR
gfad fee S @1 AfaeR
SUHTDT TAGT T FTADPR

(4)

mention all 6
rights

{F—T S &1 ATRPR 1 mark for
. listing of
313”3‘_“ 1 AT @ AASR rights
3 marks for
Right to Safety explanation
Right to Choose
Right to be informed
Right to Consumer Education
Right to be heard
Right to seek compensation
28  [FHAT W AUR & AT § FAAT 30 W gfdwe der &
forw fad=r 3R %or S faa & AT omora adr @
SO HIAT| FHRT ST T fopar S aifew s9 [ar | (143)
X Ufdthel &1 X f3deR/%H0T W & a1l Hl & ¥ 31D
) 1 Mark for
explanation,
. . 3 Marks for
Trading on equity means the use of fixed cost sources of example

finance such as debentures and loans to increase the return
on equity shares. It should be used when the Rate of
Return on Investment is more than the Rate of Interest
payable on debentures/ loans.

Example:
Situation I Situation II
Earnings before 1,00,000 1,00,000
interest and tax
(EBIT)
Interest 30,000
Earnings Before 1,00,000 70,000
Tax (EBT)
10
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Tax 30,000 21,000

Earnings After Tax 70,000 79,000

(EAT)

No. Of equity 50,000 20,000

shares

£pS EAT 70,000 _14 ?Q'szlE}S
Number of equity shares 50,000 20,000

29

W%’

el

SELF-
ACTUALIZATION

SELF-ESTEEM

LOVE/BELONGING

SAFETY
PHYSIOLOGICAL

ATEN gRT ufaufed 3maaear wafdedr e & ura
1. Sifae /emARe MaTRATT: T, urel), HSTe, HUS, 3T

2. GR&T &Y IeIDAN: 7Y § Hfh, Uipfdes deal A
GI&TT, Plefed 3R TaedT, gaaT 3 &R |

3. TGY P IIRAN: TR, eI, Tg, T 3R wdepfa,
HTH W URAR AT Sredl o feear gl

4. FATA P MIIRATT: HTcH-GFATA, TIaTdT, AR,
qﬂjca,sqaisu,uﬁm,ﬁzlﬁ

5. 3TcHA-AEATARAT $HT IFTaRIHdT: IHTcH-gfd, afhTd
fasra & gemer 3R IRKITT &THAT & TEErd|

Maslow’s hierarchy of needs has five-stage models:

4 marks

11

Downloaded from cclchanter com




1.Biological and Physiological Needs: Air, Water,
Food, Warmth, Shelter etc.

2.Safety Needs: Freedom from Fear, Protection from
Natural Elements, Law and Order, Security and
Stability.

3.Belonging Needs: Love, Friendship, Affection, Trust
and Acceptance, being part of a Family or Friends
on Work.

4.Esteem Needs: Self-Esteem, Independence, Mastery,
Dominance, Achievement, Prestige, Status

5.Self-Actualization Needs: Self-Fulfilment, Seeking
Personal Growth and Realizing Personal Potential.

OR

R i gicared:

URT - Uh hadR] & HIH & fow 3T gFAT a1 3%
3R 31fF FAgadr 3R 33U w1 & ufd FANg @ &
T Micarfed AT &1 3eedor & fou Hdar) usae
HRIGH STl FHAI-TAT W IS U el darel &l
YO & S

TGledtd - Udh ®hdRl &l URT 3@ & forw, dorea #
3 Rufd # gUR o & forw dufaan 3% demar
Hehell &

P FIUeAdT - HISA HHATRAT B URT A & fow
3Tg A 3R dlerd TR, 3if¥d FAeR 3R Targadn
P MFA A & forw AARRAT A Boga & THd &
IR S 3k gfaeafdal & gerar # 3daTpd TR
el g 3T e orar & 3R Hdaiat #r uRda
LT Bl

Non-Financial Incentives:

Appreciation — Giving due recognition for an
employee’s work encourages them to be more
diligent and dedicated towards their job. For

(1x4)
any 4 points

(%2 mark for
the
heading+'s
mark for the
explanation)

12
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example, employee recognition programs where the
best performer is declared from time to time.

Promotion —To keep an employee motivated, companies
can promote them to improve their standing in the
organization.

Job enrichment — Organisations can design jobs to
involve higher knowledge and skill levels, greater
responsibility and autonomy to motivate employees.

Job security — Organisations must provide jobs that are
relatively secure compared to their competitors. It
brings economic security and employees get

motivated.
30 Jorcdt & sl o
# 1. Tl orcit: (2x2)
s hUTTAT hTAD RIhAT B 3 & forw hadh i W)
mﬁﬁumwwmﬁlﬂ@maﬁmma?(mzﬁ@
U A ST ST &1 HPrer AHDA T a7t & fow a5 faf
agd 3uanl g1 3@ Rihal & faemuea & amwra =@ s
Rl
# 2. 3TThTTHAD DIl P dTel:
UfAfSd T9real A Bs T AT 3T Uged TR SR & Any 2
forT 3mdeed &d &1 QO 3Mdch! Pl ThiEHD el & &7 | external
sources

H ST ST &1 O STQ0fh & U 3w A & &4 H P

AR &1 0O Al & Udh 3fad wEd W o Thdr § 3R
STl 31 3MaThAT B SFAIGART &l oIrdT ST Hebell &

# 3. fa=mae:

faemua & dlndl & Ravor 3k Alad & fafreanst & a

H STTPRT &1 ST Tehdl & difeh hddl del 3FHIGAR 3Tded

R Th S Ge B SUGH TASA B

External Sources of Recruitment:

# 1. Direct Recruitment:

Many firms follow the practice of recruitment at factory
gate to fill casual vacancies. Such workers are known as
Budli Workers. This method is very useful for recruiting

(2 marks for

13
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unskilled workers. It does not involve cost of advertising
the vacancies.

# 2. Casual Callers:

In reputed organisations, many qualified people apply for
employment on their own initiative. Such applications are
known as casual callers. They serve as a good source of
manpower. A proper file may be kept of such applications
and the candidates may be called whenever the need
arises.

# 3. Advertising:

Information about the job descriptions and job
specifications can be given in the advertisement so that
only the candidates who think themselves to be suitable

may apply.
OR

(V) Ug acelt: Ueh QAT ufshar & foasd ufie] o egafeyd
0 ¥ Ueh AMET @ GEY AT H YAl Th UG @ gl UG
R IR fhar Sirar 8, arfs [y a&E d 38 a9
3R TRPIUT @l cATUS FATT ST Th| Th UiRATRT dHeany
310 e A TP PAS BT &1 38h U U AlepdT &b
forT dgay <1, Bivrel fAeprd B §1 589 3cuied # Jig
Bl & Sl 39H & [T andHeas gl

() URISATAT URILTUT: ey R TUS U 3T fopu
ST dTel U WX 3{UAT dhrel H@d g, offhed GfRraTor
A fdeh B do ¥ gy RS foham S ¥ ared i
T ATATaRUT Ueh Folld &1 # IA1T S1ar & 3R Ferardy
arEdfae dear Ae, AMAT 3R 3USON FHT 3UINT AR &
UfATEIT PR FAMAL 3R STl THOA F Fored
Bl ¥ 38 YR, gueAI3l &Y wiliehdr agd Ha g S

(A) Job rotation is a process in which the trainee is
systematically transferred from one branch to another
or from one post to another, so as to broaden his
knowledge and attitudes in diversified fields. Such|

each point)

(2x2)

(2 marks for
each point)

14
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trained worker is more efficient in his work. He has|
better knowledge, skills and speed for his job. This|
leads to increase output which is profitable for the
enterprise.

(B) Vestibule training: Employees learn their jobs on|
the equipment they will be using but the training is|
conducted away from the actual work floor. Actual
work environment is created in a class room and|
employees use the real material, machines and
equipment. Trained employees are proficient in|
handling machinery and equipment. Thus, less prong
to accidents.

31

gy gRT uRAa | cafhord 3R
IRV & dg | 3ETaRe gaat )
Y ¥l MOTRG TG E

Scufa ugy & fAgar ik | paaiREt & =T
ot ¥ scufa grATfaie §ush
ScqTe

Tare & AIH ¥ yared | FafSa @y &

QoY 37EROT g T
1T &
Uepia iTaie d@erea JAITaIRe ot
HON Td & el Bl &l

IR | 3FER g@wudm | 3ARER FAaRAT &
uel gRT aRefa | cafeera it gr

aRenid

1x6

any 6
differences

15
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ST uTelel el T AR 8

Difference between formal and informal organisatons:

Basis of Formal Informal organisation

difference | organisation

Meaning | Refers to the Refers to the
relationship organisation based on
between personal and informal
authorities as relationship among the
defined by the employees.
management.

Origin Originates from | Originates from the
the rules and social interactions
policies of the among the employees.
management.

Authority | Authority is Authority is defined
defined by the by the personal
managerial qualities of the
positions. employees.

Flow of Communication | No planned route of

communic | flows through the | communication is

ation scalar chain. followed.

Nature Formal Informal organisations
organisations are | are flexible.
rigid.

Social Do not adhere to | Fulfil social needs.

Needs social needs.

32

fauore fAsor d i W g9 § St Ir A0 |
gafip fopar amam &, Siew iU §U @ faUule & IR Ps
& &7 #F ST S ¥

T & (i) 3cure, (i) 7ed, (i) T, IR (iv) Ga9a

Scurg TRt

IcUl U 1 Th HHE & o fhal <Ifh a1 g

(1%5x4)

4Ps of
Marketing

1% marks

16

Downloaded from cclchabnter com




&7 frel AW 3TaIhar B QU AT B SHA aEg JAT
Jard gt nfAd &1 3cure fsor & Jv 3cue & Besa
3R faer, sfger, dofeier 3R oafeer & day & Ao
AT &l

Fraa o

e Tauor fasor &1 T g & Fecaqol weh ¥l T
e 3R Y i AT [AUIRTG &=ar &1 3cure i g
FI AURUT R FHAT 1T @A drelt ard &, ufaaeh 6
PIA, G Hed, e H TATA, Te, [ahr Fr e, 3|
TAT TRAOT:

AR e WENfa # cordie Agcayel §| UE Hue
P A 3cUle b 08 TIH W AT 3R AaRa &
AT ST FHTAT TSR/ ITEh! & fow ame=i § Ferot
ol 38H TAIaRoT I 3R sifds e g4t enfare #
Had RO

g Teh TAUUTT FIR Ufehdr § ST 3curg 3R 3@dhT fadwdrnsit
P FAdT P TS TATRT IR A AGE Pl ol TaG
dheilch TS T AT Wiad! § 3R 306 3cuic @Wlead &
for gmfad &=l &1 388 Aaeue, cafeea b fashr
Fada 3R yar afde 2

The marketing mix consists of various variables,
which have broadly been classified into four
categories, popularly known as four Ps of
marketing.
1. These are: (i) Product, (i1) Price, (ii1) Place,
and (iv) Promotion
Product Mix:
A product is a bundle of utilities used to satisfy the need
of an individual or a group. It includes goods as well as
services. Product mix includes the decision regarding
new product design and development, branding,
packaging and labelling.

for each
point

(2 mark for
the heading
and 1 mark
for the
explanation)

17
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PRICE
PROMOTION

4Ps of Marketing Mix

Price Mix:

Price is a very important component of the marketing
mix. It determines profits and sales volume. Things to
keep on mind while determining the cost of the product
are, the competitor’s price, list price, customer location,
discount, terms of sale, etc.

Place Mix:

Placement or distribution is crucial in marketing mix
strategy. A company should position and distribute our
product in a place that is easily accessible to potential
buyers/customers. It includes both the choice of
distribution channels and physical distribution.
Promotion Mix:

It 1s a marketing communication process that helps the
company to publicize the product and its features to the
public. Promotional techniques grab the attention of the
customers and influence them to buy the product. It
includes advertising, personal selling, sales promotion
and publicity.

18
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Jifa ik AEw F f= a7

R | Aifa IGEE
Y T AT AT ar s Rufa & @
orgd s Aot &1 | Far ¥ A Far ad
fAUROT fohar ST & | e §, IS ade arell
s iR Aoty for | v fafde giea
ST ddhd &
32 | fAvig oa # Anfeda | cgaeRr @1 AleRd
T | LT 3R 3R
AT BT
Uepia T AHAT HUS Ut AfAE wIA
T | I oraRiiel & Fife IJg FoR & T STH
| sHA Tadd & 3R faded & IR W
R Ay fow o1 @wa | A A& forw
ol Thd B
&S Sooitd & foT &3 3 dt ) [fkE
fafée a&l 2 Seoige & faw AT
ard 32T & YR W| Arfaal AR ittt &
YR |
e 3R 3T & fT IR
YR | 37T At
3N 3397 Afde gRome ar ot a g
AU AT RO aid faazor €,
g goa @ X g | dAaRAT F
AT TR B ATl Ay
3Ry | Aifal, it nfe & | o vy a9 &
Jaor et & o forT amTea uera
T B AT B
) S ER I C Y 323l 1 Jolar A
TehroT &7 ¥l
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Difference between Policy & Rule

Basis Policy Rule

Meaning | A broad plan laying A specific plan
down the limits within | indicating what is to
which decisions can be | be done or not done
taken. in a given situation.

Purpose To guide decision- To guide behaviour

making. and ensure
discipline.

Nature A general statement A Specific statement

Flexibility | It is flexible as it It 1s rigid as it leaves

provides scope for no scope for
discretion and discretion and
judgement. judgement.

Penalty Penalty for violation is | Penalty for violation

not specified. generally specified.

Source Based on objectives. Based on policies

and procedures.
Difference between Policy & Objective

Basis Objective Policy

Meaning | Objectives are the end | A policy is a
result or measurable guideline that
outcome which a governs how an
business wishes to organisational
achieve at a certain situation will be
time frame. addressed.

Purpose | Objectives decide the | This provides
purpose of guidance to managers
organisation. They are | for decision making.
the path setters for
other actions.

Scope Scope is wide as it Prepared to assist

covers all other
policies, strategies, etc.
and covers overall
business.

managers in decision-
making with changes.
Hence have a narrow
scope than objectives.
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OR

Jdr
S Aherdr il ITRET AEr ST, TE FIT T & FAlfh
GRISGECEERE R iy
e & @i & eanfder €:

1. AT AT ScUesd AT &
forlY Totea & 9a1s IS v AT AT TaF T F U
T S arer 32T 3R PR FA & Aht Bl SFAT )
T IqfF, Th YIYF B AISTAAT B dgod A6l TohdT &,
SHY HORAT 3 B

2. fadrsre aifreiter ardravor # 61 T AT
ATATTSTD, 31TAh, Bl IR 3T HRP d6ad T &l
HITS &l VY dcerral & folv g &l SreleT &idm &1 aAfehe,
ThdT & 3R 30 YR Udh Irfaeiiel ardreror & fawer &
el

3. faSe TATCHBAT P FHH AT &
IE THh AT &, 3 MY gaua gRy &1 S § 3R areh
TEET 31 TISTATHT Pl A9 P &1 3o o dl JSTA3T A
foafera gt &1 3gafa & 3R J & 3% 30 g W F
A I HATT &1 FHD PROT, GdURT AT 3T Fewdl &
At 3w gga a1 TWaTcHABAT @ ST § I1 A gl
ST &, 3R Tored 7 g off 31 A1 HFAT T e B

4. RS & Al anTa anfAer &
A HAAR W YUl P dgd FHI, U 3R o9
QA BT &1 3T 1 Taug, MSwA doeh, S 3R faw=A|
& @Y fIar-faast & Gored & 9gd 3 g7 fde
T &1 w-p), @I Y TS FETT AT F UTE 1|
B SIS FE ST Hebell &

(1x6)

any 6
points

(2 mark
for the
heading
+' mark
for the
explanati
on)
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5. fadea & g9 ARF o1 &
FS IR AU T H AT FAT 9T AT & 6 3%
fharfcad aa & fow g & A gadr| 388 tarfao
el & Sl &

6. ST Twerar & RS T &
e 1 awedr 3a% fhaeaaa W AR & &1 T8
fraeaaa & 39ma # IS v & Taar &1 9 A
forell AT & uge 1T foRaT &), aedY ardTeReT # aeda
& PRUT Tg T 8 HIH J |

Planning does not guarantee success, this statement is true
because planning is only a means to an end.
Limitations of Planning include:

1. Planning Leads to Rigidity:
A specific plan made in an organisation clearly indicates
the objective to be achieved and the ways of doing work.
Since, a manager may not be able to change these plans,
it leads to rigidity.

2. Planning may not work in a dynamic environment:
Business environment consists of social, economic, legal
and other factors that keep on changing. The organisation
has to adapt itself to such changes. But, planning cannot
assess future trends exactly and thus fails in a dynamic
environment.

3. Planning reduces Creativity:
It is an activity, which is done by the top management
and the rest of the members just implement these plans.
They are neither allowed to deviate from plans nor are
permitted to act on their own. Due to this, much of the

initiative or creativity inherent in managers or other
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members gets lost or reduced, and there is nothing new or
innovative in the organisation.

. Planning involves Huge Cost:

It usually involves a lot of time, effort and cost of the
managers. Collection of data, boardroom meetings,
investigations and discussions with experts involve a lot
of expenditure of the organisation. Sometimes, the cost
incurred may not justify the benefit derived from the
plans.

. Planning is a Time Consuming Process:

Sometimes, plans to be drawn up take so much of time
that there 1s not much time left for their implementation.
This leads to failure of planning.

. Planning does not Guarantee Success:

Success of planning rests on its implementation. Lack of
proper implementation may lead to failure of planning.
Even if a plan has worked earlier, it may not work again,
due to changes in the external environment.
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@) fr reaae:
Ie fordl faRly arfafafer ol el & fov @ad 3ugs it
N UgA AT &1 SH ETTT Pl FAfod A & v
ufshar =1¢ 3R FOTo gHYTA dehellehl el 3UTar foham
SITAT §1 38 3T & {ET 33T 3cUle &l areTd &l
BH BT IR UMD GI® M qoraar 3 TR A
3ARAH AT &

@')mmm:

Uhseey ¢ol o fohdTcae BRATRMT &1 gfduriea fear gl
o A9 g9 3R o] AR & B BT 3T
IWT 97 &1 T Bl T8 QU ke O Adusrar & Rigia
W INUTRT & 3R AfFed & fow 8 fawst Hr fdusrar
T QT 3UAT TRAT &l Th haTcHAD T H, BT B %
oic Jel # RFenfad frar Srar § 3R 93s #mT v
fadwsr @ diur S &

(&) gATHHIOT:

JATROT &l 3y § 3Rd AarR-fAad & o A=
FdRAT & fow AGd TG AT 30T & folw, th
HfA® gRI U fod A fohw I darel & Hr A= Hi
ATAhIpd AT ST Fehell &1 GER Aeal &, Hrdehal § ufdfee
ATh AT H BT R Y UT T ST &1 3H TpR
Fed AT, AWM 3R SUPT, qehellep, HIF AT A 377G &
forw off A fAuiRa v ST @aa 21

@)ﬁwmm:
CoR & dAaRAT @l NG A & o fAAgs Asql
UUTell 3(UAT T Helle & &1 3H UUTell & @R Holgdl
&I HITATT fFU T BRI S YR W par Siar &
H Pl H o FAY & HTYUR G| 3H YOIl H ar 3Tel91-
3eldT FASIGY & &l 3UAIT FRAT ST §: Ueh 3Td HAIg

(2x3)

@S 3
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X IR g@ll A FQY X S HfHP v AR 3l
& R AFTE T&IT H SHEAT Pl ScUCGT P A TETH
S HfHD T & AT & MR Add T&IT H SHBAT Al
ScUle X # TEH T A E 5% A Aolgl & B
HTAR Tl fepam Sirar B

(A) Method Study
It refers to identify the most suitable way to do a
particular activity. To conduct this study, process
chart and operation research techniques are used. The
main objective of this study is to minimise the cost of
production and maximise the quality and level of
consumer satisfaction.

(2x3)

Mention
any three

(B) Functional Foremenship

F.W. Taylor has propounded the functional
organisation. He separated planning and doing. This
form of organisation is totally based on the principle
of specialisation and makes full utilisation of the
expertise of 8 experts for the workers.In a functional
organisation, work is divided into many small parts
and each part i1s assigned to an expert. This Eight
bosses will be as follows:

=

I |
Planning Incharge Production Incharge

Instruction
Card Clerk
Clerk Boss

Disciplinarian

Repairs
Boss

Workman
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() Standardization

Standardisation means setting standards for different
factors, after due deliberation. For example, the
amount of work to be done by a worker in a day may
be standardised.In other words, the worker 1s expected
to do the standard amount of work every day.In the
same manner standards may also be set for raw
materials, machines and tools, techniques, conditions
of work, etc.

(D) Differential Piece Wage System

Taylor has advised the adoption of differential wage
systems in order to motivate the employees.
According to this system, wages are paid on the basis
of work done and not on the basis of time spent in
doing the work. In this system two different wage
rates are used: one is the high wage rate and the other
is the low wage rate. Those workers who are able to
produce the standard number of units within a fixed
duration are paid as per the high wage rate, and those
workers who are not able to produce the standard
number of units within the same time are paid as per
the lower wage rate.

OR

(T) 3ERA Hr Tpar

G T Tehcll T FAGIT HedT & fob hADIRAT Pl ol
T 99 T AR IR [y um g aiiRu| afg e &
AT H & a1 a1 @ 3 gy HTABRY fohell Shefardy @1 | (2x3)
3CRr & o a8 HfAT g Swen 6 ag feadr 3mem @
e Y1 AR WIS & &Y BT uhem g e & ar| (@1 3
Te AfHEr & T vE, aREr & S EEd ¥ gy k| 99
HfAAPAT 3R IR B T ded FIY T H HASE HLI|

(@) |FHar
T HATTRAT &b TY FA 3R FFACAYID e
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ST TfRU| Ig uaysd i ey & fF fordy oY seamdy
Pl ASHT BT THAT d FAT US| JIUDT Pl wAATRAT b
ary 3fRa 3R fAuer cgaer & arfeu| sereor & forg,
Teh hAIRI Pl I Hied Teel P AT ST 3R g
B FAAT PAT HEAY YT |

GURIECIE RS

38 figic & AR WO 3R Scureehd Th gl W AR
¢l FaaiRal @ URa 3R 3cued gaw @A & fow
uriRsfde wdid g afku| I uth dAAIRAl & dF &
IR 3R R wdtE e @l

@) Ts

UgY Pl HAAIRAT Pl Teh TISA H Ugdl ded & fow
FAYA R Wicafed AT AIfRU| THE 3¢ HUA T
Jora 3R e d dAce el FATRAT & AT TRt
P @D B B OFGATT A SN aRwl T IR
MG & WicaTfed T & AR HUAT & a8y wifg ot
TEHa I B

(A) Unity of Command

The principle of 'Unity of Command' states that
employees should receive orders and instructions from
one boss only. If two or more superiors command a
worker at the same time, he will get confused whom to
follow. If the unity of command is maintained in the
organisation it would help to avoid confusion among the
workers, conflict among the superiors and create better
relations between workers and managers.

Mention
any three
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Right Approach Wrong Approach
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. Superior

Subordinate

(B) Equity

All employees should be treated equally and
respectfully. It’s the responsibility of a manager that no
employees face discrimination. Managers should treat
employees fairly and impartially. For example, allowing
leave with pay to one employee and denying the other
will create dissatisfaction.

(C) Remuneration

Motivation and productivity are close to one another.
This principle states that the remuneration should be
sufficient to keep employees motivated and productive.
It should be fair and adequate according to an
individual’s efforts they have made.

(D) Initiative

The management should support and encourage the
employees to take initiatives in an organization. It will
help them to increase their interest and make then worth.
Employees should be allowed to express new ideas. This
encourages interest and involvement and creates added
value for the company.
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